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(ay dadl Jzal) Minimin=Mini(15,12,14)=12 :Jall J5lish na .|
oy el jlsal) Maximin=Max(15,12,14)=15 :J joas .o

(ay el jiaal) Minimax=Mini(20,19,25)=19 :ajléd) laa .z

(a3 Jdl jlaal) Maximax =Max(20,19,25)=25 :Jasll agléd jlwa .8
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V(ay) =1, Xp+rg%xq =(15%0,6) + (20 x 0,4) = 17 :J5¥) Jll &es <
V(az) =rop X p+12g X q = (12%0,6) + (19 x 0,4) = 14,8 : S8 L) ded <
V(as) =13, X p+713g X q = (14 % 0,6) + (25 x 0,4) = 18,4 sl Lol das <

(A ) A jral 41 521 g0 V)

tadil) jlas . g
tasil) Joaa alac)
i) S, S, S5 MAX
a 15-15=0 20-14=6 18-12=6 6
a 17-15=2 19-14=5 12-12=0 S
as; 16-15=1 14-14=0 25-12=13 13

(a2 Jral) Mini(6,5,13) = 5 :Minimax_juxe aka
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